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1. ~o :lfU:tk -1~-t!t-1\~Jt • t;t~t J-~5rJl~·ll.~1<1!~ ~ :f~ 1t ,tNd1.(5 -0--) 

2. ~o :l!t.i!k -1~ ~ 1§•1 1+ .~«~ Jt • t;t r.,, odds ratio ~o 1iiJ ~t ~ ? ( 5 -0--) 

.1J~E3M: 0224 , im~ : 3 

3. #i11•11t P.~,~Jt~i!!:1\~Jt1iiJ4'-"f J.A tt ~~5rJ14'-·tl.~-tl!~ ~~f 1. ~? tt~t ~~ o (10 -0--) 

4. 3f r.,, -1-"H-1-i>i!!i~)rJl 4'-·ll.~-tlt~ ~ ,tNH1.k ~ ~~~i!!i~~[ll 1HI 4'- ' ffl1t If~ Jt 4 ~ (statistical test) ll 
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Jf-4-1-'f "f • ~:fft~ 1f 50 ~ ..¥.!%-·t1. • .fdi~Jt t 15 1ft • :1i ~ 15 1ft ~i.1f 8 ~~~:X. 't ~11 A j\ • 11!1-T ~~ i~ 

.fft:fft~ • PIT Jt~t~~.~t:l!t.RU~1%~1tJTtt;fJi~oT(45 -0--): 

**4-*~~~~t ~~t~~ -~1& .iE~~iM~.~~~t ~~t~~ -~~ 

1 1%-·t± 1f 1 rt·ti ~ 

2 Ft·ti ~ 2 Ft·t± ~ 

3 Ft·ti 1f 3 Ft·t± ~ 

4 F6rt± ~ 4 1%-·ti 1f 
5 Ft·ti ~ 5 Ft·t± ~ 

6 rt·t± ~ 6 ft·ti ~ 

7 ft·ti ~ 7 ft·t± ~ 

8 ft·ti ~ 8 ft·ti ~ 

9 ft·ti ~ 9 rt·ti ~ 

10 1%-·ti 1f 10 1%-·ti ~ 

11 Ft·ti ~ 11 ft·ti ~ 

12 ft·ti ~ 12 ft·ti ~ 

13 1%-·ti 1f 13 Ft·ti ~ 

14 rt·ti ~ 14 Ft•ti ~ 

15 Ft·ti ~ 15 l~·ti 1f 

( 1=r rli117} ~ ~ 1:1 , ~t ,~.; tfi 11 ~- > 
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. 1. tt M 3oo ~ ~*4#-.:r..~~ ~~~rn·t±.z.~1t $-~} j,' ? (5 )} ) 

2. ~~a15~~#1f.:r..A15ft£t~~·~~~~~tl$~£A~-~~tA·ffl~-~~~~~ 

A :IIi!® -t ? (5 )} ) 

3. ~~- 300 ~ ~*4#-.:r..A 151n:.Lt~~M·~~~~~~·ti$-f/.J£A~ -~1tt.A • ffl1ar-~1t~~~ 

A :IIi!® -t? (5 )}) 

4. 1!1«-J:..:f<. tt J. ~~ ~ ~ftil.i\ &(sensitivity) ' 4~ A ·ti(specificity) ' £ ffi ilt1j {t(predictive value positive) , ~ 

ffi ~M {!(predictive value negative) ( 10 )} ) 

5. ~*~k~~~~Wf/.J~~·-~J.~#i§f.:r..~~-~-~-~~~tlA}~?aum~-~~~ 

~:lli~:i&? (10 )}) 

6. ~**•~~···~-~#i§f.:r..~~-~-f/.J·#~~tlA}~?aum~-~~~~:lli~i®? 
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[.:=..] # 8 ~ 1i + ~!-:1-J:..~ Jllfftf-tl~& ~ {/.] ~~*i!Hi~~ f-4;jq-' ~I:.-'X4·ftdi~.ll!A4•itfWr- *-.hip flexion JVL 

}] 1a • 1-f -f- J~ :ko J: ... CF .~t *0 o )} • ~ 5 )} ) : 
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I. :tf-1t4#1i ~ .1l!#Hitrm- *-.hip flexion mh 1a£ A.z.Nc.tt t, A · m 1ar-~ ~ ~ A:lli·t*''t ? 

2. :tf-1i!14;1q-1i ~ .1l!A4,itf'Rtr- 7>...:;5 Ai! hip flexion JVL}] 1t£ A4-f p=0.161 ' ~-t#t'tt hip flexion M..h ~~~ P..Jt l-
1'F m .z.>'r , l!~ 1ar•~JIM~? 

Task 

1 

2 

3 

4 

N 

22 

4 

7 

3 

Mean 

25.72 

20.83 

31.99 

17.63 

SD 

20.05 

6.18 

12.48 

5.78 

I. :tf' 1t ~ task Fa lAX. ~ -t ;,t.z. £ A k ~ ~ ft.,;t tt t, A , m 1ar • ~ ~ ~ A :IIi ·t*' 't ? ( 5 )} ) 

2. ~1:.~ ~ .Z. hull hypothesis A alternative hypothesis ~ k 1+ Jf ? ( 10 )} ) 

3. SD f/.J1::-~ A1iiJHo~tt 1}? (5 )}) 


